
CS 181 Spring 2021 Section 2 Notes:
Probabilistic Classification

1 Probabilistic Regression (Review)

“Story” for how the data were created.

For a model parameterized by θ, we have the likelihood for data D = {(xi, yi)}Ni=1, xi ∈ Rm,
yi ∈ R:

p(D|θ)

The value of θ that maximizes the likelihood is called the maximum likelihood estimate or MLE.

For probabilistic regression, we modeled the conditional distribution, p(y|x), with a target value
yi Normally distributed with mean w>xi and variance σ2.

We showed that finding parameters w that minimizes the negative log likelihood of labels y given
design matrix X gives the same expression for the optimal parameters w∗ as from using ordinary
least squares regression.

Later we will also see a “full Bayes” approach where we also reason about priors on the parameters
θ.

2 Linear Classification

2.1 Takeaways

2.1.1 Classification

Goal : Given an input vector x, assign it to one of K discrete classes Ck.

Input space divided into decision regions whose boundaries are called decision boundaries or
decision surfaces.

2.1.2 Binary Linear Classification

• Two classes divided by a linear separator in feature space.

• Discriminant function : Function that directly assigns each vector to a specific class

ŷ = sign(h(x; w, w0)) = sign(w>x + w0)

• w is orthogonal to every point on the decision surface. It determines orientation of decision
boundary.

2.1.3 Perceptron

• Discriminative algorithm for binary classification with linear decision surface



• To define the loss, we use the hinge loss / rectified linear function:

ReLU(z) = max{0, z}

• Perceptron Loss :

L(w) =
n∑

i=1

ReLU(−h(xi; w, w0)yi)

= −
n∑

i=1:yi 6=ŷi

(w>xi + w0)yi

• Update using stochastic gradient descent (here, for example i):

w(t+1) = w(t) − η ∂

∂w
L(i)(w) = w(t) + ηyixi,

2.2 Concept Question

Why do we choose the ReLU function over the 0/1 function when formulating the loss func-
tion?



2.3 Exercise: Small Perceptron Example

Let’s train a perceptron on a small data set. Consider data {xi}Ni=1,xi ∈ R2. Let the learning rate
η = 0.2 and let the weights be initialized as:

w =

(
w1

w2

)
=

(
1

0.5

)
, w0 = 0

Let the circles have yi = 1 and the triangles yi = −1. The data and initial separation boundary
(determined by w) is illustrated below.

Proceed by iterating over each example until there are no more classification errors. When in
doubt, refer to the notes above. We know a priori that we will be able to train the classifier and
have no classification errors because one can see visually that the data is linearly separable (note:
as mentioned above, if the data were not so obviously linearly separable, a new basis could make
it so). How many updates do you have to make? Is this surprising?

Solution:



3 Probabilistic Classification

3.1 Takeaways

3.1.1 Discriminative Model

We need to model p(y|x).

In the binary case, we can use the sigmoid function:

σ(z) = − 1

1 + exp{−z}

and the negative log likelihood loss function:

L(θ) = −
N∑

n=1

(yn ln p(yn = 1|xn; θ) + (1− yn) ln p(yn = 0|xn; θ))

where θ are the parameters of the model. Note, in classification settings, the negative log likeli-
hood loss is sometimes called the cross-entropy loss due being related to the cross-entropy func-
tion.

Logistic Regression: Use a linear function

z = wTx + w0

3.1.2 Generative Model

Models the joint distribution p(x, y). This factors into p(x|y)p(y).

• p(y) is called the class prior and is always a categorical distribution, and just Bernoulli for
binary classification.
Gives an a priori probability of an observation being a certain class, without even consider-
ing the observation’s features.

• p(x|y) is called the class-conditional distribution and its form is model-specific.
Specifies how likely an observation (set of features) is given a class.

We are interested in picking the class k that maximizes p(y = k|x).

p(y|x) =
p(x|y)p(y)

p(x)
∝ p(x|y)p(y)

x can be either discrete or continuous.



3.1.3 Naive Bayes

Naive Bayes is one type of generative model for classification. It’s “naive” because we assume
that each dimension d ∈ {1, ..., D} of the nth observed data point xn is conditionally independent
from the other dimensions given the correct class label i.e. yn = Ck.

p(xn|yn = Ck) =

D∏
d=1

p(xnd|yn = Ck)

For a concrete example, suppose we’re classifying movies into demographics the movies will ap-
peal to based on three features: (1) the decade in which the star actor/actress was born, (2) the
kind of marketing (e.g. blog vs magazine vs newspaper) and (3) the country the movie is made in.
For each class Ck, and each feature d ∈ {1, 2, 3}, we model the probability of the feature value as a
Categorical distribution with probability vector πkd:

πkd = [πkd1, πkd2, ..., πkdJ ]> (1)

with
∑J

j=1 πkdj = 1 for all k, d. The probability of dimension d of a data point xn in class Ck

is

p(xnd|yn = Ck) = Cat(xnd|πkd) (2)

=
J∏

j=1

π
I[xnd=j]
kdj (3)

Under the Naive Bayes assumption, we assume that each feature’s distribution is independent
from the other features’ distributions given the class. This means the conditional probability of
the nth film summary given the kth class can be written as :

p(xn|yn = Ck) =
D∏

d=1

p(xnd|yn = Ck) (4)

=

D∏
d=1

J∏
j=1

π
I(xnd=j)
kdj (5)

3.1.4 Naive Bayes Concept Questions

How many parameters does this model have? Why do we use the “naive” assumption?



3.1.5 Naive Bayes Practice Problem

Let’s consider just two classes. Let p(y = 1) = θ and p(y = 0) = 1 − θ. For a given dataset
{xn, yn}Nn=1, what are the maximum likelihood estimates of the the parameters θ, {πk,d,j}? For
MLE, we want to find the parameters that minimize the negated log-likelihood:

L(θ, {πk,d,j}) = − ln p({xn, yn}Nn=1|θ, {πk,d,j}) (6)

= − ln
N∏

n=1

p(xn, yn|θ, {πk,d,j}) (7)

= − ln
∏

n:yn=1

p(xn|{π1,d,j})p(yn = 1|θ)
N∏

n:yn=0

p(xn|{π0,d,j})p(yn = 0|θ) (8)

= −
∑

n:yn=1

ln p(xn|{π1,d,j})−
∑

n:yn=1

ln p(yn = 1|θ) (9)

−
∑

n:yn=0

ln p(xn|{π0,d,j})−
∑

n:yn=0

ln p(yn = 0|θ) (10)

= −
∑

n:yn=1

ln

D∏
d=1

J∏
j=1

π
I[xnd=j]
1dj −

∑
n:yn=1

ln(θ) (11)

−
∑

n:yn=0

ln
D∏

d=1

J∏
j=1

π
I[xnd=j]
0dj −

∑
n:yn=0

ln(1− θ) (12)

= −
∑

n:yn=1

D∑
d=1

J∑
j=1

I[xnd = j] ln(π1dj)−
∑

n:yn=1

ln(θ) (13)

−
∑

n:yn=0

D∑
d=1

J∑
j=1

I[xnd = j] ln(π0dj)−
∑

n:yn=0

ln(1− θ) (14)

The indicator function I[·] is useful to make sure that our likelihood only evaluates p(x, y) for each
x’s true class rather than both classes. This is used a lot, so make sure you see what is going
on.



3.2 Exercise: Shapes of Decision Boundaries I

Consider now a generative model with K > 2 classes, and output label y encoded as a “one hot”
vector of length K. We adopt class prior p(y = Ck;π) = πk for all k ∈ {1, . . . ,K} (where πk is a
parameter of the prior). Let p(x |y = Ck) denote the class-conditional density of features x (in this
case for class Ck). Let the class-conditional probabilities be Gaussian distributions

p(x |y = Ck) = N (x |µk,Σk), for k ∈ {1, . . . ,K}

We will predict the class of a new example x as the class with the highest conditional probability,
p(y = Ck |x). Luckily, a little bird came to the window of your dorm, and claimed that you can
classify an example x by finding the class that maximizes the following function:

fk(x) = ln(πk)− 1

2
ln(|Σk|)−

1

2
(x− µk)TΣ−1k (x− µk).

Derive this formula by comparing two different classes’ conditional probabilities. What can we
claim about the shape of the decision boundary given this formula?

Solution:



3.3 Exercise: Shapes of Decision Boundaries II

Let’s say the little bird comes back and now tells you that every class has the same covariance
matrix, and so Σ` = Σ′` for all classes C` and C`′ . Simplify this formula down further. What can
we claim about the shape of the decision boundaries now?

Solution:



3.4 Visualizing Decision Boundaries

If you want to better understand what these decision boundaries look like, we can visualize them!
Let’s consider two classes and assume x lives in 2 dimensions. We first consider the case in which
the two classes have identical covariances, here defined as

p(x|y = 1) = N
(
µ1 =

[
1
1

]
,Σ1 =

[
2 0
0 1

])
p(x|y = 2) = N

(
µ2 =

[
−1
−1

]
,Σ2 =

[
2 0
0 1

])
We use the following code to plot the contours of both Gaussians:

# i m p o r t s
import m a t p l o t l i b . pyplot as p l t
import numpy as np
import p l o t l y . g r a p h o b j e c t s as go
import sc ipy . s t a t s

# c r e a t e meshgr id from −8 t o 8
mesh granular i ty = 100
p o s s i b l e v a l s = np . l i n s p a c e ( − 8 . , 8 , mesh granular i ty )
mesh coords = np . meshgrid ( p o s s i b l e v a l s , p o s s i b l e v a l s )
mesh coords = np . reshape ( np . s tack ( mesh coords ) ,

newshape =(2 , mesh granular i ty * mesh granular i ty ) ) . T

# d e f i n e means o f Gauss i ans
means = [ np . array ( [ 1 . , 1 . ] ) ,

np . array ( [ − 1 . , − 1 . ] ) ]

# compute d e n s i t i e s f o r b o t h Gauss i ans assuming e q u a l c o v a r i a n c e s
covs = [ np . array ( [ [ 2 . , 0 . ] ,

[ 0 . , 1 . ] ] ) ,
np . array ( [ [ 2 . , 0 . ] ,

[ 0 . , 1 . ] ] ) ]
same cov dens i t i es = [ sc ipy . s t a t s . mul t ivar ia te normal . pdf ( x=mesh coords ,

mean=mean ,
cov=cov )

for mean , cov in zip ( means , covs ) ]

# p l o t
p l t . contour ( np . reshape ( mesh coords [ : , 0 ] ,

newshape=( mesh granulari ty , mesh granular i ty ) ) ,



np . reshape ( mesh coords [ : , 1 ] ,
newshape=( mesh granulari ty , mesh granular i ty ) ) ,

np . reshape ( same cov dens i t i es [ 0 ] ,
newshape=( mesh granulari ty , mesh granular i ty ) ) ,

c o l o r s = ’ red ’ )
p l t . contour ( np . reshape ( mesh coords [ : , 0 ] ,

newshape=( mesh granulari ty , mesh granular i ty ) ) ,
np . reshape ( mesh coords [ : , 1 ] ,

newshape=( mesh granulari ty , mesh granular i ty ) ) ,
np . reshape ( same cov dens i t i es [ 1 ] ,

newshape=( mesh granulari ty , mesh granular i ty ) ) ,
c o l o r s = ’ blue ’ )

p l t . x l a b e l ( ’ x 1 ’ )
p l t . y l a b e l ( ’ x 2 ’ )
p l t . t i t l e ( ’ Density Contours f o r 2 Gaussians , Same Covariance ’ )
p l t . a x i s ( ’ equal ’ )
p l t . xlim ( −4 , 4 )
p l t . ylim ( −4 , 4 )
p l t . show ( )

This gives us the following contours:





If you would prefer plotting in 3D, we can alternatively use Plotly:

f i g = go . Figure ( data =[
go . Mesh3d ( x=mesh coords [ : , 0 ] ,

y=mesh coords [ : , 1 ] ,
z=same cov dens i t i es [ 0 ] ,
c o l o r = ’ l i g h t p i n k ’ ) ,

go . Mesh3d ( x=mesh coords [ : , 0 ] ,
y=mesh coords [ : , 1 ] ,
z=same cov dens i t i es [ 1 ] ,
c o l o r = ’ l i g h t b l u e ’ ) ] )

f i g . show ( )

Rotating the plot (and ignoring the floating point problems on the periphery), we can see that the
two Gaussians have equal density along a line:

We now plot the second case, where covariances are unequal. We assume that the two Gaussians
are:

p(x|y = 1) = N
(
µ1 =

[
1
1

]
,Σ1 =

[
2 0
0 2

])
p(x|y = 2) = N

(
µ2 =

[
−1
−1

]
,Σ2 =

[
2 0
0 1

])
# def ine means of Gaussians
means = [ np . array ( [ 1 . , 1 . ] ) ,

np . array ( [ − 1 . , − 1 . ] ) ]

# compute d e n s i t i e s f o r both Gaussians assuming equal covar iances
covs = [ 2 . * np . eye ( 2 ) ,



np . array ( [ [ 2 . , 0 . ] ,
[ 0 . , 1 . ] ] ) ]

d i f f c o v d e n s i t i e s = [ sc ipy . s t a t s . mul t ivar ia te normal . pdf ( x=mesh coords ,
mean=mean ,
cov=cov )

f o r mean , cov in zip ( means , covs ) ]

The contour plot



Rotating the plot (and ignoring the floating point problems on the periphery), we can see that the
two Gaussians have equal density along a parabola:

f i g = go . Figure ( data =[
go . Mesh3d ( x=mesh coords [ : , 0 ] ,

y=mesh coords [ : , 1 ] ,
z= d i f f c o v d e n s i t i e s [ 0 ] ,
c o l o r = ’ l i g h t p i n k ’ ) ,

go . Mesh3d ( x=mesh coords [ : , 0 ] ,
y=mesh coords [ : , 1 ] ,
z= d i f f c o v d e n s i t i e s [ 1 ] ,
c o l o r = ’ l i g h t b l u e ’ ) ] )

f i g . show ( )
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